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SECONDARY SCHOOL EXAMINATION – 2023 (ANNUAL) 

SOCIAL SCIENCE (Compulsory)

Total No. of Questions :  Total No. of Printed Pages : 34

Time : 2 Hrs. 45 Minutes         Full Marks : 80 

Instructions for the candidates :-

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; 

fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 

digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answer in their own words as far 

as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted to the candidates to 

read the questions carefully. 

5- ;g iz’u&i= nks [k.Mksa esa foHkDr gS]  ,oa  

Sub. Code – 111 
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This question paper is divided into two sections, Section-A and 

Section-B. 

6- [k.M&v esa 80 oLrqfu"B iz’u gSaA ftuesa 40 iz’u vfuok;Z gSaA ;fn ijh{kkFkhZ 40 

ls vf/kd iz’uksa ds mÙkj nsrs@nsrh gSa] rks izFke 40 iz’uksa dk gh ewY;kadu fd;k 

tk,xkA izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA OMR mÙkj&i=d ij fn, 

x;s lgh fodYi dks dkys@uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds 

âkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj&i=d esa iz;ksx ugha 

djsa vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A there are 80 objective type questions out of which 40 

questions are compulsory. If the candidate answers more than 40 

questions, only the first 40 questions will be evaluated. Each 

question carries 1 mark. Darken the correct option give on the 

OMR answer sheet with black/blue ball pen. Do not use 

Whitener/liquid material/blade/nail etc. on the OMR Answer Sheet 

otherwise the result will be invalid. 

7- [k.M&c esa lkekftd foKku ds dqy 5 fo"k;ksa ds y?kq mŸkjh; iz’u gSaA izR;sd 

iz’u ds fy, 2 vad fu/kkZfjr gaSA 

bfrgkl esa 6 y?kq mÙkjh; iz’u ¼iz’u la[;k 1 ls 6½ gSa] ftuesa fdUgha 3 iz’uksa ds 

mŸkj nsus gSaA 

jktuhfr foKku esa 4 y?kq mÙkjh; iz’u ¼iz’u la[;k 9 ls 12½ gSa] ftuesa fdUgha 2 

iz’uksa ds mŸkj nsus gSaA 
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vFkZ’kkL= esa 4 y?kq mÙkjh; iz’u ¼iz’u la[;k 15 ls 18½ gSa] ftuesa fdUgha 2 

iz’uksa ds mŸkj nsus gSaA 

Hkwxksy esa 6 y?kq mÙkjh; iz’u ¼iz’u la[;k 21 ls 26½ gSa] ftuesa fdUgha 3 iz’uksa 

ds mŸkj nsus gSaA 

vkink izca/ku esa 4 y?kq mÙkjh; iz’u ¼iz’u la[;k 29 ls 32½ gSa] ftuesa fdUgha 2 

iz’uksa ds mŸkj nsus gSaA 

buds vfrfjDr 8 nh?kZ mŸkjh; iz’u ¼iz’u la[;k 7] 8] 13] 14] 19] 20] 27] 28½ 

gSaA izR;sd iz’u ds fy, 4 vad fu/kkZfjr gSaA bfrgkl ]jktuhfr foKku] vFkZ’kkL= 

,oa Hkwxksy esa izR;sd ls ,d&,d iz’u dk mÙkj nsuk gSA 

In section-B, there are Short Answer Type Questions of 5 subjects 

of Social Science. Each question carries 2 marks. 

History has 6 Short Answer Type Questions (Q Nos. 1 to 6) out of 

which any 3 questions are to be answered. 

Political Science has 4 Short Answer Type Questions (Q. Nos. 9 to 

12) out of which any 2 questions are to be answered. 

Economics has 4 Short Answer Type Questions (Q. Nos. 15 to 18) 

out of which any 2 questions are to be answered. 

Geography has 6 Short Answer Type Questions (Q. Nos. 21 to 26) 

out of which any 3 questions are to be answered. 
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Disaster Management has 4 Short Answer Type Questions (Q. 

Nos. 29 to 32) out of which any 2 questions are to be answered. 

Apart from these, there are 8 Long Answer Type Questions (Q. 

Nos. 7, 8, 13, 14, 19, 20, 27, 28). Each question carries 4 marks. 

One Long Answer Type Question each from History, Political 

Science, Economics and Geography is to be answered. 

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

Section-A  

Objective Type Question

iz’u la[;k 1 ls 80 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d lgh 

gSA vius }kjk pqus x, fodYi dks OMR 'khV ij fpfàr djsaA dsoy 40 iz’uksa ds gh mÙkj 

nsaA           40 X 1 ¾ 40 

Question Nos. 1 to 80 have four options each, out of which only one is 

correct. Mark your selected option on the OMR sheet. Answer any 40 

questions.          40 x 1 =40 

1- Hkkjrh; turk ikVhZ dks fdl ikVhZ dk iqutZUe dgk tkrk gS \ 

 (A) Hkkjrh; ØkfUr ny   (B) Hkkjrh; tula?k 

 (C) Hkkjrh; yksd ny   (D) Hkkjrh; turk ny 

 Bhartiya Janata Party is called the reincarnation of which party ? 

 (A) Bhartiya Kranti Dal   (B) Bharatiya Jansangh 
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 (C) Bharatiya Lok Dal   (D) Bharatiya Janata Party 

2- nfyr iSaFklZ uked laxBu dh LFkkiuk fdl jkT; esa gqbZ \ 

 (A) mÙkj izns’k    (B) xqtjkr  

 (C) egkjk"Vª     (D) vkU/kz izns’k 

 In which state was the Dalit Panthers organisation established ? 

 (A) Uttar Pradesh   (B) Gujarat 

 (C) Maharashtra    (D) Andhra Pradesh 

3- dkSu lk laoS/kkfud la’kks/ku uxjh; LFkkuh; Lo’kklu ls lacaf/kr gS \ 

 (A) 75 ok¡     (B) 74 ok¡ 

 (C) 73 ok¡     (D) 72 ok¡  

 Which constitutional amendment is related to urban local self 

government ? 

 (A) 75th     (B) 74th  

 (C) 73rd     (D) 72nd  

4- cyoUr jk; esgrk lfefr us vius izfrosnu esa fdrus Lrjh; iapk;rh jkt O;oLFkk 

dh flQkfj’k dh Fkh \ 

 (A) ,d&Lrjh;    (B) nks&Lrjh; 

 (C) f=Lrjh;     (D) pkj&Lrjh; 

 How many levels of Panchayati Raj system was recommended by the 

Balwant Rai Mehta Committee in its report ? 
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 (A) Single-tier    (B) Two-tier 

 (C) Three-tier    (D) Four-tier 

5- Hkkjr esa izFke uxj fuxe dh LFkkiuk dgk¡ dh xbZ \ 

 (A) iVuk     (B) cEcbZ 

 (C) enzkl     (D) dydÙkk 

 Where was the first Municipal Corporation established in India ? 

 (A) Patna     (B) Bombay 

 (C) Madras     (D) Calcutta 

6- loZizFke fdl jkT; esa efgykvksa dks iapk;rksa esa 50% vkj{k.k fn;k x;k \ 

 (A) if’pe caxky    (B) xqtjkr 

 (C) fcgkj     (D) rfeyukMq 

 In which state women were given 50% reservation in Panchayats for 

the first time ? 

 (A) West Bengal    (B) Gujarat 

 (C) Bihar     (D) Tamil Nadu 

7- ny&cny dkuwu fuEu esa ls fdl ij ykxw gksrk gS \ 

 (A) lkalnks vkSj fo/kk;dksa ij  (B) jk"Vªifr ij 

 (C) mijk"Vªifr ij    (D) buesa ls lHkh 

 On which of the following does Anti-defection law apply ? 

 (A) On MPs and MLAs   (B) On President 

 (C) On Vice President   (D) All of these 
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8- {ks=okn dh Hkkouk dk ,d dqifj.kke gS % 

 (A) vius {ks= ls yxko   (B) jk"Vªfgr 

 (C) jk"Vªh; ,drk    (D) vyxkookn 

 Side effect of the spirit of regionalism is : 

 (A) Affinity for one’s region  (B) National interest 

 (C) National unity   (D) Isolationism 

9- ^vFkZ’kkL=* iqLrd fdlus fy[kh \ 

 (A) panzxqIr     (B) pk.kD; 

 (C) dkfynkl     (D) esxkLFkuht 

 Who wrote the book “Arthashastra’ ? 

 (A) Chandragupta   (B) Chanakya  

 (C) Kalidas     (D) Megasthenes 

10- buesa ls fdl ns’k dh la?kh; O;oLFkk vU; ls vyx gS \ 

 (A) Hkkjr     (B) dukMk 

 (C) la;qDr jkT; vesfjdk   (D) buesa ls dksbZ ugha  

 The federal system of which of these countries is different from others? 

 (A) India     (B) Canada 

 (C) United States of America  (D) None of these 

11- Hkkjr dh la?kh; O;oLFkk fuEu esa ls fdlls izHkkfor gS \ 

 (A) dukMk     (B) la;qDr jkT; vesfjdk 
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 (C) vkWLVªsfy;k    (D) buesa ls dksbZ ugha 

 The federal system of India is influenced by which of the following ? 

 (A) Canada     (B) United States of America 

 (C) Australia    (D) None of these 

12- Hkkjrh; lafo/kku dh fdl vuqlwph esa jk"Vªh; Hkk"kkvksa dh lwph gS \ 

 (A) ik¡poh vuqlwph    (B) nwljh vuqlwph 

 (C) lkroha vuqlwph    (D) vkBoha vuqlwph 

 Which schedule of the Indian constitution contains the list of National 

languages ? 

 (A) Fifth Schedule   (B) Second Schedule 

 (C)  Seventh Schedule   (D) Eighth Schedule 

13- jkT; fo/kku lHkk ds pqukoksa dks djkus dh ftEesnkjh gS % 

 (A) Hkkjrh; pquko vk;ksx   (B) jkT;iky  

 (C) jk"Vªifr     (D) jkT; pquko vk;ksx 

 Conducting elections to the state legislative assembly is the 

responsibility of : 

 (A) Election commission of India (B) Governor 

 (C) President    (D) State election commission 

14- f’k{kk dks lafo/kku dh fdl lwph esa j[kk x;k gS \ 

 (A) dsUnz lwph    (B) jkT; lwph 

 (C) leorhZ lwph    (D) buesa ls dksbZ ugha 
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 In which List of the constitution is education placed ? 

 (A) Union List    (B) State List 

 (C) Concurrent List   (D) None of these 

15- teZuh dk ,dhdj.k dc gqvk \ 

 (A) 1989     (B) 1871 

 (C) 1879     (D) 1985 

 When did the unification of Germany take place ? 

 (A) 1989     (B) 1871 

 (C) 1879     (D) 1985 

16- gksvk&gkvks vkUnksyu fdlus 'kq# fd;k \ 

 (A) gqbUg Qw&lks    (B) U;ks fnUg fn;e 

 (C) gks&ph&feUg    (D) ujksÙke flagkuqd 

 Who started the Hoa-Hao movement ? 

 (A) Huynh Phu So   (B) Ngo Dinh Diem 

 (C) Ho-Chi Minh    (D) Norodom Sihanouk  

17- tujy yksu uksy fdl ns’k ds iz/kkuea=h Fks \ 

 (A) fo;ruke     (B) ykvksl 

 (C) dEcksfM;k     (D) phu 

 General Lon Nol was the Prime Minister of which country ? 

 (A) Vietnam    (B) Laos 

 (C) Combodia    (D) China 
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18- ekpZ 1946 esa Ýkal vkSj fo;ruke ds chp gksus okyk le>kSrk fdl uke ls tkuk 

tkrk gS \ 

 (A) tsusok le>kSrk     (B) guksbZ le>kSrk 

 (C) isfjl le>kSrk    (D) /keZ fujis{k le>kSrk 

 The agreement signed between France and Vietnam in March 1946 is 

known by which name ? 

 (A) Geneva Agreement   (B) Hanoi Agreement 

 (C) Paris Agreement   (D) Secular Agreement 

19- xka/kh th us lkcjerh vkJe dh LFkkiuk dgk¡ dh \ 

 (A) xka/khuxj     (B) vgenkckn 

 (C) lwjr     (D) oM+ksnjk 

 Where did Gandhiji establish Sabarmati Ashram ? 

 (A) Gandhi Nagar   (B) Ahmedabad 

 (C) Surat     (D) Vadodara 

20- dkaxzsl ds fdl vf/kos’ku esa Lo’kklu dh txg Lojkt dk y{; izLrkfor fd;k 

x;k\ 

 (A) lwjr vf/kos’ku    (B) dydÙkk vf/kos’ku 

 (C) ukxiqj vf/kos’ku    (D) dkuiqj vf/kos’ku 

 In which session of Congress was the goal of Swaraj proposed instead 

of self-government ? 

 (A) Surat Session   (B) Calcutta Session 
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 (C) Nagpur Session   (D) Kanpur Session 

21- nkaMh ;k=k ls fdl vkanksyu dh 'kq#vkr gqbZ \ 

 (A) lfou; voKk vkanksyu   (B) vlg;ksx vkanksyu 

 (C) f[kykQr vkanksyu   (D) pEikj.k lR;kxzg 

 Which movement started with Dandi march ? 

 (A) Civil Disobedience Movement (B) Non-cooperation Movement 

 (C) Khilafat Movement   (D) Champaran Satyagrah 

22- xka/kh th us fdl xksyest lEesyu esa Hkkx fy;k \ 

 (A) izFke xksyest lEesyu   (B) f}rh; xksyest lEesyu 

 (C) rr̀h; xksyest lEesyu   (D) buesa ls lHkh 

 In which round table conference did Gandhiji participate ? 

 (A) First round table conference  (B) Second round table conference 

 (C) Third round table conference (D) All of these 

23- QkjoMZ CykWd dh LFkkiuk fdlus dh \ 

 (A) eksrh yky usg:    (B) O;kses’k pUnz cuthZ 

 (C) lgtkuUn ljLorh   (D) lqHkk"kpUnz cksl 

 Who established the Forward Block ? 

 (A) Moti Lal Nehru   (B) Womesh Chandra Banerjee 

 (C) Sahajanand Saraswati  (D) Subhash Chandra Bose 

24- caxky foHkktu dc vkSj fdlus fd;k \ 

 (A) 1905] dtZu    (B) 1905] bjfou 
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 (C) 1911] dtZu    (D) 1911] MygkSth 

 When and who did the partition of Bengal ?  

 (A) 1905, Curzon    (B) 1905, Irwin 

 (C) 1911, Curzon    (D) 1911, Dalhousie 

25- fuEu esa ls dkSu fe= jk"Vª ugha gS \ 

 (A) Ýkal      (B) teZuh 

 (C) :l      (D) fczVsu 

 Which of the following is not an allied nation ? 

 (A) France     (B) Germany 

 (C) Russia     (D) Britain 

26- Lojkt ikVhZ dk izFke lEesyu dgk¡ gqvk \ 

 (A) bykgkckn     (B) vgenkckn 

 (C) y[kuÅ     (D) ukxiqj 

 Where was the first convention of Swaraj Party held ? 

 (A) Allahabad    (B) Ahmedabad 

 (C) Lucknow    (D) Nagpur 

27- buesa ls fdlus ikojywe dk vkfo"dkj fd;k \ 

 (A) tkWu ds     (B) lSE;wy ØkEiVu 

 (C) ,MeaM dkVZjkbV    (D) FkkWel csy 

 Who among the following invented the powerloom ? 

 (A) John Kay    (B) Samuel Crompton 
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 (C) Edmund Cartwright   (D) Thomas Bell 

28- ^U;w Mhy* uked uohu vkfFkZd uhfr dgk¡ ykxw gqbZ \ 

 (A) fczVsu     (B) vesfjdk 

 (C) Ýkal     (D) teZuh 

 Where was the new economic policy named ‘New Deal’ implemented ? 

 (A) Britain     (B) America 

 (C) France     (D) Germany 

29- 1991 esa lksfo;r la?k ds fo?kVu ds mijkUr dkSu ns’k egk’kfDr ds :Ik esa mHkjk\ 

 (A) teZuh     (B) phu 

 (C) bVyh     (D) la;qDr jkT; vesfjdk 

 Which country emerged as a superpower after the dissolution of the 

Soviet Union in 1991 ? 

 (A) Germany    (B) China 

 (C) Italy     (D) United States of America 

30- buesa ls dkSu ns’k n{ksl dk lnL; ugha gS \ 

 (A) Hkkjr     (B) b.Mksusf’k;k 

 (C) HkwVku     (D) ckaXykns’k 

 Which of these countries is not a member of SAARC ? 

 (A) India     (B) Indonesia 

 (C) Bhutan     (D) Bangladesh 
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31- :lks fdl ns’k dk jgus okyk Fkk \ 

 (A) Ýkal     (B) :l 

 (C) vesfjdk     (D) baXySa.M 

 Rousseau belongs to Which country ? 

 (A) France     (B) Russia 

 (C) America    (D) England 

32- ^vy&fgyky* dk lEiknu fdlus fd;k \ 

 (A) ekSykuk vcqy dyke vkt+kn  (B) lj lS;n vgen [kk¡ 

 (C) ,uh cslsUV    (D) ,- ih- ts- vCnqy dyke 

 Who edited Al-Hilal ? 

 (A) Maulan Abul Kalam Azad  (B) Sir Syed Ahmad Khan 

 (C) Annie Besant    (D) A. P. J. Abdul Kalam 

33- xqVsucxZ us loZizFke fdl iqLrd dh NikbZ dh \ 

 (A) d+qjku     (B) xhrk 

 (C) ckbfcy     (D) buesa ls dksbZ ugha 

 Which was the first book printed by Gutenberg ? 

 (A) Quran     (B) Geeta 

 (C) Bible     (D) None of these 

34- egkRek xka/kh us buesa ls fdl dk lEiknu fd;k \ 

 (A) dkWeuohy    (B) ;ax bafM;k 

 (C) caxkyh     (D) fcgkjh 
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 Which of the following is edited by Mahatma Gandhi ? 

 (A) Commonweal   (B) Young India 

 (C) Bengali     (D) Bihari 

35- dkmaV dkowj dks foDVj beSuq,y us fdl in ij fu;qDr fd;k \ 

 (A) lsukifr     (B) jktnwr 

 (C) iz/kkuea=h     (D) xg̀ ea=h  

 To which post was Count Cavour appointed by Victor Emmanuel ? 

 (A) Commander in chief  (B) Ambassador 

 (C) Prime Minister   (D) Home Minister 

36- fo;uk lEesyu dh estckuh fdlus dh \ 

 (A) ysfuu     (B) fcLekdZ 

 (C) LVkfyu     (D) esVjfu[k 

 Who hosted the Vienna Convention ? 

 (A) Lenin     (B) Bismarck 

 (C) Stalin     (D) Metternich 

37- vkarfjd fonzksgksa dks nckus ds fy, #l esa fdl laxBu dh LFkkiuk gqbZ \ 

 (A) yky lsuk    (B) psdk 

 (C) QkjoMZ CykWd    (D) nfyr isaFklZ 

 Which organization was formed in Russia to suppress internal 

rebellion? 

 (A) Red Army    (B) Cheka  
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 (C) Forward Block   (D) Dalit Panthers 

38- Hkkjr esa miHkksDrk laj{k.k vf/kfu;e dh ?kks"k.kk dc gqbZ \ 

 (A) 1986     (B) 1980 

 (C) 1987     (D) 1988 

 When was the Consumer Protection Act announced in India ? 

 (A) 1986     (B) 1980 

 (C) 1987     (D) 1988 

39- ^fo’o miHkksDrk vf/kdkj fnol* dc euk;k tkrk gS \ 

 (A) 17 ekpZ     (B) 15 ekpZ 

 (C) 19 vizSy     (D) 22 vizSy 

 When is the ‘World Consumer Rights Day’ celebrated ? 

 (A) 17th March    (B) 15th March 

 (C) 19th April    (D) 22nd April 

40- Hkkjr esa loZizFke jk"Vªh; vk; dk vuqeku dc yxk;k x;k \ 

 (A) 1820     (B) 1828 

 (C) 1868     (D) 1878 

 When was the national income estimated for the first time in India ? 

 (A) 1820     (B) 1828 

 (C) 1868     (D) 1878 

41- xjhch dh rqyuk fdl vFkZ’kkL=h us dSalj jksx ls dh \ 

 (A) ek’kZy      (B) dqTusRl 
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 (C) ihxw     (D) ,Me fLeFk 

 Which economist compared poverty with Cancer disease ? 

 (A) Marshall    (B) Kuznets 

 (C) Pigou     (D) Adam Smith 

42- ekuo fodkl lwpdkad esa buesa ls fdls lfEefyr fd;k x;k gS \  

 (A) thou izR;k’kk    (B) f’k{kk izkfIr  

 (C) thou Lrj    (D) buesa ls lHkh 

 Which of the following is included in the Human Development Index ? 

 (A) Life expectancy    (B) Educational attainment 

 (C) Standard of living   (D) All of these 

43- Hkkjr esa vkfFkZd fu;kstu dk dke dkSu lh laLFkk djrh gS \ 

 (A) ;kstuk vk;ksx    (B) jk"Vªh; fodkl vk;ksx 

 (C) uhfr vk;ksx    (D) Hkkjrh; fjtoZ cSad 

 Which organization does the work of economic planning in India ? 

 (A) Planning Commission   

(B) National Development Commission 

 (C) NITI Aayog 

 (D) Reserve Bank of India 

44- ^ikWoVhZ ,.M vufczfV’k :y bu bf.M;k* uked fdrkc fdlus fy[kh \ 

 (A) ih0 lh0 egkyuksfcl   (B) nknk HkkbZ ukSjksth 
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 (C) oh0 ds0 vkj0 oh0 jko   (D) eksrhyky usg: 

 Who wrote the book ‘Poverty and Unbritish Rule’ in India’ ? 

 (A) P. C. Mahalanobis   (B) Dada Bhai Naoroji 

 (C) V. K. R. V. Rao   (D) Moti Lal Nehru 

45- LohMsu dh eqnzk D;k gS \ 

 (A) MkWyj     (B) ikW.M 

 (C) Øksuk     (D) fj;ky 

 What is the currency of Sweden ? 

 (A) Dollar     (B) Pound 

 (C) Krona     (D) Rial 

46- fuEufyf[kr esa dkSu Hkkjr dk loksZPp cSafdax laLFkku gS \ 

 (A) LVsV cSad vkWQ bf.M;k   (B) lsUVªy cSad vkWQ bf.M;k 

 (C) ukckMZ     (D) Hkkjrh; fjotZ cSad 

 Which of the following is the apex banking institution of India ? 

 (A) State Bank of India   (B) Central Bank of India 

 (C) NABARD    (D) Reserve Bank of India 

47- ekuo ds lokZaxh.k fodkl ,oa lkekftd&vkfFkZd fodkl ds fy, lcls egÙoiw.kZ rRo 

D;k gS \ 

 (A) iw¡th     (B) /ku 

 (C) tula[;k     (D) f’k{kk 
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 What is the most important element for the all round and socio-

economic development of human being ? 

 (A) Capital     (B) Wealth 

 (C) Population    (D) Education 

48- buesa ls dkSu Hkkjrh;ksa ds thou&fuokZg dk eq[; lk/ku gS \ 

 (A) m|ksx&/ka/ks    (B) O;kikj 

 (C) d`f"k     (D) fofuekZ.k 

 Which of these is the main source of livelihood for Indians ? 

 (A) Industries    (B) Trade 

 (C) Agriculture    (D) Manufacturing 

49- izkFkfed {ks= esa dkSu lh vkfFkZd fØ;k 'kkfey gS \ 

 (A) [kuu     (B) lapkj 

 (C) fofuekZ.k     (D) ;krk;kr 

 Which economic activity is involved in the primary sector ? 

 (A) Mining     (B) Communication 

 (C) Manufacturing   (D) Transportation 

50- lksus ds vkHkw"k.kksa dh xq.koÙkk lqfuf’pr djus ds fy, fdl ekud fpà dk iz;ksx 

fd;k tkrk gS \ 

 (A) ISI ekdZ     (B) ,xekdZ 

 (C) gkWy ekdZ     (D) buesa ls lHkh 
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 Which Standard Mark is used to ensure the quality of gold ? 

 (A) ISI Mark    (B) AGMARK 

 (C) Hallmark    (D) All of these 

51- buesa ls fdl laLFkk dk xBu 1954 esa fd;k x;k \ 

 (A) ;kstuk vk;ksx    (B) jk"Vªh; fodkl ifj"kn 

 (C) jk"Vªh; izfrn’kZ losZ{k.k laxBu  (D) dsUnzh; lkaf[;dh laxBu 

 Which of these organizations was formed in 1954 ? 

 (A) Planning Commission   

(B) National Development Council 

 (C) National Sample Survey Organisation 

 (D) Central Statistical Organisation 

52- ekSleh csjkstxkjh ikbZ tkrh gS % 

 (A) lsok {ks= essa    (B) df̀"k {ks= essa 

 (C) vkS|ksfxd {ks= esa    (D) buesa ls dksbZ ugha 

 Seasonal unemployment is found in : 

 (A) Service sector   (B) Agricultural sector 

 (C) Industrial sector   (D) None of these 

53- iw¡thoknh vFkZO;oLFkk dk xq.k gS % 

 (A) futh ykHk    (B) ewY; ra= 

 (C) lk/kuksa dk futh LokfeRo  (D) buesa ls lHkh  
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 The characteristic of capitalist economy is : 

 (A) Individual profit   (B) Price mechanism 

 (C) Private ownership of resources (D) All of these 

54- ^r#.k Hkkjr la?k* dk laca/k fdl jkT; ls gS \ 

 (A) jktLFkku     (B) xqtjkr 

 (C) iatkc     (D) egkjk"Vª 

 ‘Tarun Bharat Sangh’ is related to which state ? 

 (A) Rajasthan    (B) Gujarat  

 (C) Punjab     (D) Maharashtra 

55- :l ds lg;ksx ls fdl fo|qr la;a= dk fuekZ.k fd;k x;k gS \ 

 (A) dSxk ijek.kq fo|qr x`g   (B) dqMudwye ijek.kq fo|qr xg̀ 

 (C) dyiDde ijek.kq fo|qr xg̀  (D) ujkSjk ijek.kq fo|qr x`g 

 Which power plant has been built in collaboration with Russia ? 

 (A) Kaiga Atomic Power Plant  

(B) Kudankulam Nuclear Power Plant 

(C) Kalpakkam Nuclear Power Plant 

(D) Narora Atomic Power Plant 

56- izkjafHkd thfodk d`f"k dks bl uke ls Hkh tkuk tkrk gS % 

 (A) >we     (B) ikeyw 

 (C) nhik     (D) buesa ls lHkh 
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 Early subsistence agriculture is also known as : 

 (A) Jhum     (B) Pamlou 

 (C) Dipa     (D) All of these 

57- MsDdu vkWMslh fdl jkT; esa pykbZ tk jgh gS \ 

 (A) dsjy     (B) egkjk"Vª 

 (C) vkU/kz izns’k    (D) rfeyukMq 

 Deccan odyssey is being run in which state ? 

 (A) Kerala     (B) Maharashtra 

 (C) Andhra Pradesh   (D) Tamil Nadu  

58- Hkkjr esa ok;q ifjogu dk jk"Vªh;dj.k dc fd;k x;k \ 

 (A) 1953     (B) 1950 

 (C) 1948     (D) 1964 

 When was airways nationalized in India ? 

 (A) 1953     (B) 1950 

 (C) 1948     (D) 1964 

59- bUukSj canjxkg fdl jkT; esa fLFkr gS \ 

 (A) vksfM’kk     (B) dukZVd 

 (C) xksok     (D) rfeyukMq 

 In which state is Ennore port located ? 

 (A) Odisha     (B) Karnataka 

 (C) Goa     (D) Tamil Nadu 
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60- fcgkj dh izkphure unh ?kkVh ifj;kstuk gS % 

 (A) lksu unh ?kkVh ifj;kstuk  (B) dkslh unh ?kkVh ifj;kstuk 

 (C) x.Md unh ?kkVh ifj;kstuk  (D) buesa ls dksbZ ugha 

 The oldest river valley project of Bihar is : 

 (A) Sone River Valley Project (B) Kosi River Valley Project 

 (C) Gandak River Valley Project (D) None of these 

61- uUnk nsoh jk"Vªh; m|ku dgk¡ fLFkr gS \ 

 (A) mÙkj izns’k    (B) mÙkjk[k.M 

 (C) if’pe caxky    (D) vksfM’kk 

 Where is Nanda Devi National park located ? 

 (A) Uttar Pradesh   (B) Uttarakhand 

 (C) West Bengal    (D) Odisha 

62- fpidks vkanksyu dh 'kq#vkr fdlus dh \ 

 (A) lqUnj yky cgqxq.kk   (B) ve`rk nsoh 

 (C) es/kk ikVdj    (D) dSyk’k lR;kFkhZ 

 Who started the Chipko Movement ?  

 (A) Sundar Lal Bahuguna  (B) Amrita Devi 

 (C) Medha Patkar   (D) Kailash Satyarthi 

63- fcgkj esa fdrus izfr’kr HkkSxksfyd {ks= esa ou dk QSyko gS \ 

 (A) 15      (B) 20 

 (C) 28      (D) 7 
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 What is the percentage of geographical area covered by forest in 

Bihar? 

 (A) 15      (B) 20 

 (C) 28      (D) 7 

64- buesa ls dkSu dkcZfud [kfut ugha gS \ 

 (A) fcVqfeul     (B) [kfut rsy 

 (C) izkdf̀rd xSl    (D) buesa ls lHkh 

 Which of these is not a carbonic mineral ? 

 (A) Bituminous    (B) Mineral oil 

 (C) Natural gas    (D) All of these 

65- lhesaV m|ksx dk dPpk eky dkSu gS \ 

 (A) pwuk iRFkj    (B) ckWDlkbV 

 (C) xzsukbV     (D) ykSg v;Ld 

 Which is the raw material of cement industry ? 

 (A) Limestone    (B) Bauxite 

 (C) Granite     (D) Iron ore 

66- Hkkjr dk igyk rsy 'kks/kd dkj[kkuk dgk¡ gS \ 

 (A) eqEcbZ     (B) eFkqjk 

 (C) fMxcksbZ     (D) gfYn;k 

 Where is the first oil refinery of India ? 

 (A) Mumbai    (B) Mathura 
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 (C) Digboi     (D) Haldia 

67- eqEcbZ gkbZ izfl) gS % 

 (A) dks;ys ds fu;kZr gsrq   (B) rsy 'kks/ku gsrq 

 (C) [kfut rsy gsrq    (D) ijek.kq 'kfDr gsrq 

 Mumbai High is famous for : 

 (A) Export of coal   (B) Oil refinery 

 (C) Mineral oil    (D) Atomic power 

68- Hkkjr dh izeq[k [kk|kUu Qly dkSu gS \ 

 (A) xsgw¡     (B) pkoy 

 (C) eDdk     (D) cktjk 

 Which is the main food crop of India ? 

 (A) Wheat     (B) Rice 

 (C) Maize     (D) Millet 

69- twV mRiknu esa dkSu ns’k vxz.kh gS \ 

 (A) phu     (B) ckaXykns’k 

 (C) la;qDr jkT; vesfjdk   (D) Hkkjr 

 Which country is a leading producer of Jute ? 

 (A) China     (B) Bangladesh 

 (C) United States of America  (D) India 

70- bu jkT;ksa esa dkSu ykSg v;Ld dk vxz.kh mRiknd gS \  

 (A) vksfM’kk     (B) NÙkhlx<+ 
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 (C) dukZVd     (D) >kj[k.M 

 Which of these states is the leading producer of Iron ore ? 

 (A) Odisha     (B) Chhattisgarh 

 (C) Karnataka    (D) Jharkhand 

71- fdls fcgkj dk ^js’ke uxj* dgk tkrk gS \ 

 (A) iVuk     (B) njHkaxk 

 (C) dfVgkj     (D) Hkkxyiqj 

 Which is called the ‘Silk City’ of Bihar ? 

 (A) Patna     (B) Darbhanga 

 (C) Katihar     (D) Bhagalpur 

72- fcgkj dh vFkZO;oLFkk esa fdl {ks= dk lokZf/kd ;ksxnku gS \ 

 (A) df̀"k     (B) m|ksx 

 (C) lsok     (D) f’k{kk 

 Which sector has the highest contribution in the economy of Bihar ? 

 (A) Agriculture    (B) Industry 

 (C) Service     (D) Education  

73- fcgkj dh cM+h =klfn;ksa esa ls ,d gS % 

 (A) lw[kk     (B) ck<+ 

 (C) HkwL[kyu     (D) pØokr 

 One of the biggest tragedies of Bihar is :– 

 (A) Drought    (B) Flood 
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 (C) Landslide    (D) Cyclone 

74- dqlgk rVca/k fdl unh ij gS \ 

 (A) dkslh     (B) x.Md 

 (C) nkeksnj     (D) xaxk 

 On which river is the Kusaha Embankment located ? 

 (A) Kosi     (B) Gandak 

 (C) Damodar    (D) Ganga 

75- lryt unh ij dkSu lk d`f=e tyk’k; cuk;k x;k gS \ 

 (A) ukxktqZu lkxj    (B) iar lkxj 

 (C) ljnkj ljksoj    (D) xksfoan lkxj 

 Which artificial reservoir has been built on the Satluj river ? 

 (A) Nagarjun Sagar   (B) Pant Sagar 

 (C) Sardar Sarovar   (D) Gobind Sagar 

76- vkink izca/ku dk izeq[k ?kVd dkSu gS \ 

 (A) LFkkuh; Lo’kklu   (B) Lo;alsoh laxBu 

 (C) xk¡o&eqgYys ds yksx   (D) buesa ls lHkh 

 Which is the main component of disaster management ? 

 (A) Local administration  (B) Voluntary organization 

 (C) People of village-mohalla  (D) All of these 

77- lqnwj laosnh mixzg dk iz;ksx fdl fy, fd;k tkrk gS \ 

 (A) nwj lapkj ds fy,   (B) lalk/kuksa dh [kkst ds fy,  
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 (C) ekSle foKku ds fy,   (D) buesa ls lHkh 

 What is a remote sensing satellite used for ? 

 (A) For telecommunications  (B) For finding resources 

 (C) For meteorology   (D) All of these 

78- 26 fnlacj 2004 dks fo’o ds fdl fgLls esa Hk;adj lqukeh vk;k Fkk \ 

 (A) vjc lkxj    (B) vVykafVd egklkxj 

 (C) fgan egklkxj    (D) iz’kkar egklkxj 

 In which part of the world Tsunami did occur on 26 Dec. 2004? 

 (A) Arabian Sea    (B) Atlantic Ocean  

 (C) Indian Ocean    (D) Pacific Ocean 

79- Hkkjr esa vR;Ur fouk’kdkjh HkwdEi vk;k Fkk % 

 (A) 1934 esa      (B) 1948 esa   

 (C) 1967 esa     (D) 1990 esa 

 The devastating earthquake occured in India : 

 (A) 1934     (B) 1948   

 (C) 1967     (D) 1990 

80- ^lqukeh* fdl Hkk"kk dk 'kCn gS \ 

 (A) fgUnh     (B) vaxzsth 

 (C) tkikuh     (D) vjch 

 ‘Tsunami’ is a word of which language ? 

 (A) Hindi     (B) English 
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 (C) Japanese    (D) Arabic  

Section-B 

History 

Short Answer Type Questions 

iz’u la[;k 1 ls 6 rd y?kq mÙkjh; gSaA buesa ls fdUgha 3 iz’uksa dk mÙkj nsaA izR;sd iz’u ds 

fy;s 2 vad fu/kkZfjr gSA        (3x2=6) 

Question Nos. 1 to 6 are Short Answer Type.  Answer any 3 questions. Each 

question carries 2 marks.        (3x2=6) 

1- fo;uk lEesyu dk eq[; mís’; D;k Fkk \      2 

What was the main objective of the Vienna conference ? 

2- teZuh ds ,dhdj.k dh ck/kk,¡ D;k FkhaA      2 

What were the obstacles in Unification of Germany ? 

3- :l&tkiku ;q) us fdl izdkj cksY’ksfod Økafr dk ekxZ iz’kLr fd;k \ 2 

How did the Russo-Japanese war pave the way for the Bolshevik 

Revolution ? 

4- fgUn&phu ds izfr Ýkal dh vkSifuosf’kd ;kstuk D;k Fkh \   2 

What was the colonial plan of France towards Indo-China ? 

5- Lojkt ikVhZ cukus dk eq[; mís’; D;k Fkk \     2 

What was the main objective for formation of Swaraj Party. 

6- 1929 dh vkfFkZd eanh ds dksbZ nks dkj.k crkb,A     2 

Give the two reasons for the economic recession of 1929. 
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Long Answer Type Questions

iz’u la[;k 7 vkSj 8 nh?kZ mÙkjh; gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd iz’u ds fy, 

4 vad fu/kkZfjr gSaA        1 x 4 = 4 

Question Nos. 7 and 8 are Long Answer Type. Answer any one of them. 

Each question carries 4 marks.     1 x 4 = 4  

7- e'khuksa ds vkfo"dkjksa dh J`a[kyk us vkS|ksfxd Økafr dk ekxZ fdl izdkj iz’kLr 

fd;k \          4  

How did the series of inventions of machines pave the way for 

industrial revolution ? 

8- ;wVksfi;u lektokn oSKkfud lektokn ls fdl izdkj fHkUu gS \ 4 

How Utopian Socialisms is different from Scientific Socialism ? 

Political Science  

Short Answer Type Questions 

iz’u la[;k 9 ls 12 rd y?kq mÙkjh; gSaA buesa ls fdUgha 2 iz’uksa dk mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSaA        (2x2=4) 

Question no. 9 to 12 are Short Answer Type questions. Answer any 2 

questions. Each question carries 2 marks.     (2x2=4) 

9- la?kh; O;oLFkk esa U;k;ikfydk dh D;k Hkwfedk gksrh gS \    2 

What is the role of judiciary in a Federal System? 

10- lkaiznkf;drk yksdra= dks fdl izdkj izHkkfor djrh gS \    2 

How does communalism affect democracy ? 
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11- lÙkk dk fodsUnzhdj.k D;ksa vko’;d gS \      2 

Why decentralization of power is essential ? 

12- jktuhfrd ny dks yksdra= dh jh<+ D;ksa dgk tkrk gS \   2 

Why a political party is called the backbone of democracy ? 

Long Answer Type Questions

iz’u la[;k 13 vkSj 14 nh?kZ mÙkjh; gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd iz’u ds 

fy, 4 vad fu/kkZfjr gaSA        1 x 4 = 4  

Question Nos. 13 and 14 are long answer type. Answer any one of them. 

Each question carries 4 marks.      1 x 4 = 4 

13- Ykksdra= dh lQyrk ds fy, mÙkjnk;h dkjd D;k gS \    4 

What are the factors responsible for the success of democracy ? 

14- xzke iapk;r ds xBu vkSj dk;ksZa dks foLrkj ls crkb,A    4 

Explain in detail the structure and functions of Gram Panchayat. 

Economics 

Short Answer Type Questions 

iz’u la[;k 15 ls 18 rd y?kq mÙkjh; gSaA fdUgha 2 iz’uksa dk mÙkj nsaA izR;sd iz’u ds fy, 

2 vad fu/kkZfjr gSA         2 x 2 = 4 

Question Nos. 15 to 18 are Short Answer Type. Answer any 2 questions. 

Each question carries 2 marks.       2 x 2 = 4  

15- vkfFkZd fu;kstu dks ifjHkkf"kr djsaA       2 

Define economic planning. 
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16- jk"Vªh; vk; dh x.kuk dh fdUgha nks dfBukbZ;ksa dk mYys[k dhft,A  2 

Mention any two difficulties in computing national income. 

17- Hkkjrh; eqnzk cktkj vkSj Hkkjrh; iw¡th cktkj esa D;k vUrj gS \   2 

What is the difference between Indian money market and Indian 

capital market ? 

18- vFkZO;oLFkk ij eanh dk D;k izHkko iM+rk gS \     2 

What is the effect of recession on the economy ? 

Long Answer Type Questions

iz’u la[;k 19 vkSj 20 nh?kZ mÙkjh; gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd iz’u ds 

fy, 4 vad fu/kkZfjr gSA        1 x 4 = 4  

Question Nos. 19 and 20 are Long Answer Type. Answer any one of them. 

Each question carries 4 marks.      1 x 4 = 4  

19- vk/kkjHkwr lajpuk D;k gS \ ns’k ds vkfFkZd fodkl esa bldk D;k egÙo gS \  4 

What is infrastructure ? What is its importance in the economic 

development of a country ? 

20- fcgkj ds fiNM+siu dks nwj djus ds mik; lq>kb,A 

Suggest measures to remove backwardness of Bihar. 

Geography 

Short Answer Type Questions 

iz’u la[;k 21 ls 26 rd y?kq mÙkjh; gSaA fdUgha 3 iz’uksa dk mÙkj nsaA izR;sd iz’u ds fy, 

2 vad fu/kkZfjr gSA         3 x 2 = 6 
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Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions. 

Each question carries 2 marks.       3 x 2 = 6 

21- e`nk laj{k.k ds dksbZ nks mik; crkb,A      2 

Suggest any two measures of soil conservation. 

22- lalk/ku fu;kstu ds lksikuksa dk mYys[k dhft,A     2 

Mention the steps of resource planning. 

23- cgqmís’kh; ifj;kstuk ls vki D;k le>rs gSa \     2 

What do you mean by multipurpose project ? 

24- fcgkj esa ugjksa ds fodkl ls lEcfU/kr leL;kvksa dk mYys[k dhft,A  2 

Mention the problems related to the development of Canals in 

Bihar. 

25- ty lalk/ku ds nks L=ksrksa dks mYys[k dhft,A     2 

Mention two sources of water resources. 

26- vHkzd dk mi;ksx D;k gS \        2 

What is the use of Mica? 

Long Answer Type Questions

iz’u la[;k 27 vkSj 28 nh?kZ mÙkjh; gSaA fdlh ,d iz’u dk mÙkj nsaA izR;sd iz’u ds fy, 4 

vad fu/kkZfjr gSA         1 x 4 = 4  

Question Nos. 27 and 28 are Long Answer Type. Answer any one question. 

Each question carries 4 marks.      1 x 4 = 4  

27- ou ds i;kZoj.kh; egÙo dk o.kZu dhft,A       4 

Describe the environmental importance of forest. 
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28- dkslh unh ?kkVh ifj;kstuk ij ,d laf{kIr fVIi.kh fyf[k,A   4 

Write a short note on the Kosi River Project. 

Disaster Management 

Short Answer Type Questions 

iz’u la[;k 29 ls 32 rd y?kq mÙkjh; gSaA fdUgha 2 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 

2 vad fu/kkZfjr gSaA         2 x 2 = 4 

Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions. 

Each question carries 2 marks.       2 x 2 = 4  

29- 'kq"d d`f"k dh nks fof/k;k¡ crkb,A       2 

State two methods of Dry farming. 

30- lw[kk ds izdkj crkb,A        2 

State the types of drought. 

31- ck¡/k vkSj rVca/k esa D;k vUrj gS \       2 

What is the difference between dam and embankment ? 

32- HkwdEi ds le; viuk;s tkus okys vkdfLed izca/ku dks crkb,A   2 

State the emergency management to be adopted at the time of 

earthquake. 


